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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  Animal welfare science is an emerging field that seeks to answer questions —---------=----
by the keeping and use of animals.
1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --—----seenee-- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the --- e
to be used for the new dish.
1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the

other -emem-=- issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he ——-----=eeenev puts off doing his
assignments until the last minute,
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint ----eceeceaee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (o —-=e-ceeeeeeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article
that said his company was —=-—--eveeee- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of ------a-ue -===, A4S YOU can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10-  New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ---------——--—- diabetes.
1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ————- , since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—---——-—--— and altering both their
culture and their physical environment, (13) ---m-emeemm- -- can thus defy any formula
(14) —memmmmmmee- the matter. The number of people that Earth can support depends on
(15) ===mmmmmmmmmmm, on what we want to consume. and on what we regard as a crowd.

11- 1) It is probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Torrential downpours are frequently associated with thunderstorms, but there’s another
breed of thunderstorm in the western states that produces little or no rain at all and yet
presents multiple hazards. These so-called dry thunderstorms are accompanied by
lightning, but little, if any, rain from them reaches the ground. Dry thunderstorms are
most common in the western United States late in spring and in early summer when
monsoonal moisture is absent in the region. This is because the air is dry near the
carth's surface, but ample moisture aloft can still aid in the formation of a
thunderstorm if there is a source of lift in the atmosphere. As raindrops from
thunderstorm clouds encounter the dry air, they evaporate. In the world of
meteorology. this is referred to as Virga.

Lightning strikes from dry thunderstorms are particularly hazardous in the West
because they can ignite wildfires since no rain is wetting the vegetation below. The dry
fuels are a prime source for wildfire development. Fire weather forecasters also
classify storms that produce very light rain amounts at the earth's surface as dry
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thunderstorms. This occurs when the meager amount of rain that falls has no effect of
hampering the spread of a wildfire after lightning ignites it, according to the National
Weather Service.

In addition to sparking new fires. strong blasts of wind from dry thunderstorms can
be a nightmare for firefighters battling an ongoing wildfire because of potential for
shifting winds. More than 10,280 lightning-sparked fires are reported in the United
States annually, according to the National Interagency Fire Center. About 58 percent
of those occur in the western states. It's unknown how many of those were caused by
dry thunderstorms. Dry thunderstorms present a hazard to those participating in
outdoor activities. With no rain falling from a storm, campers and hikers may be
unaware of nearby lightning.

What is the reason for formation of dry thunderstorms?

1) Abundance of monsoonal moisture

2) The absence of arid condition

3) Scant moisture near the surface

4) Charge source in the atmosphere

What condition leads to the wildfire initiation?

1) Lightning 2) Wind shift 3) Windiness 4) By thunderstorm

What is a Virga?

1) Increase in air humidity

2) Increase in air temperature in early summer

3) Rainfall extending from the base of a thunderstorm

4) Evaporation as a result of precipitation falling from the high cloud into extremely
dry air

What is the main cause of fire in United States?

1) Unknown

2) Virga

3) Dry thunderstorm in 58% of cases

4) Dry thunderstorm in all cases of fires

What main factor determines the hazards of thunderstorms?

1) Lightning 2) Rain decline
3) Wild fire development 4) Vegetation wetting
PASSAGE 2:

As mentioned in the fourth assessment report of the Intergovernmental Panel on
Climate Change (IPCC), *in general terms. drought is a ‘prolonged absence or marked
deficiency of precipitation’. a “deficiency of precipitation that results in a water
shortage for some activity or for some group” or a ‘period of abnormally dry weather
sufficiently prolonged for the lack of precipitation to cause a serious hydrological
imbalance’. ™ The report] goes on to note that “drought has been defined in a number
of ways. “Agricultural drought’ relates to moisture deficits in the topmost one metre or
so of soil (the root zone) that impacts crops, ‘meteorological drought’ is mainly a
prolonged deficit of precipitation. and *hydrologic drought’ is related to below-normal
streamflow, lake and groundwater levels.” These differences emphasize the relative
roles of precipitation, evapotranspiration (ET) and run off in drought caused by
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climatic factors. More generally, water availability is a societal and environmental
concern, which also brings in the demand side. and thus there are other possible
definitions related to water scarcity. The IPCC SREX report2 includes a valuable
discussion of drought or *dryness’,

Drought can be quantified and described in absolute terms (such as the amount of
soil moisture or lake levels) or through relative measures (for instance, PDSI in
various forms), and these can be compared. Because drought is defined by one tail of
the probability distribution function of a drought measure, such as soil moisture
content or stream flow, a small reduction in the mean (for example, —5%) will translate
into a much larger increase in drought frequency based on other drought definitions5.
Consequently, this difference has caused some confusion regarding the magnitude of
drought changes, and using the percentiles of soil moisture or streamflow instead of
mean values to define drought and its changes may represent a better approach in this
case.

Which sentence explains the main reason for the decrease in water wells?
1) Increasing demands of water

2) Decrease of water pumping from wells

3) Reduced groundwater levels due to drought

4) Drought and lack of rainfall affecting the level of underground water
The word “these” in paragraph two refers to --—---eeeeee- ?

1) absolute terms 2) relative measures 3) both land 2 4) drought
What is the purpose of the author in the passage?

1) The role of drought in water scarcity

2) Presenting different definitions of drought

3) Presenting a valuable discussion on drought

4) Providing some recommendations for resolving drought definition problems
Does a shortage of rain mean drought?

1) Yes

2) Not necessarily

3) Absolutely yes

4) None of the above

Based on the passage, is drought predictable?

1) The passage does not say it.

2) A relative measure like PDSI is helpful.

3) The percentage of soil moisture reduction is important.

4) Both 2 and 3 are correct.

PASSAGE 3:

Recent technological advances in manned and unmanned undersea vehicles. along
with breakthroughs in satellite technology and computer equipment. have overcome
some of the limitations of divers and diving equipment for scientists doing research on
the great oceans of the world. Without a vehicle, divers often become sluggish. and
their mental concentration was severely limited. Because undersea pressure affects
their speech organs, communication among divers has always been difficult or
impossible. But today. most oceanographers avoid the use of vulnerable human divers.

e ey e bt § 93 st ] (gt JLS 90 5 ibsbdal § Sl gt s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

§ amiuo 240F (oY 05) prlidlah 3 S jd955 Ac oo

26-

27-

28-

29-

30-

preferring to reduce the risk to human life and make direct observations by means of
instruments that are lowered into the ocean. from samples taken from the water. or
from photographs made by orbiting satellites. Direct observations of the ocean floor
can be made not only by divers but also by deep-diving submarines in the water and
even by the technology of sophisticated aerial photography from vantage points above
the surface of the water.

With what topic is the passage primarily concerned?
1) technological advances in oceanography

2) Communication among divers

3) Direct observation of the ocean floor

4) Undersea vehicles

The word sluggish in line 4 is closest in meaning to —----—--—-— 5
1) very weak 2) confused 3) nervous 4) slow moving
Divers have had problems in communicating underwater because ---------- -

1) the vehicles they used have not been perfected
2) they did not pronounce clearly

3) the pressure affected their speech organs

4) the water destroyed their speech organs

This passage suggests that the successful exploration of the ocean depends upon —---—-—---,
1) vehicles as well divers

2) radios that divers use to communicate

3) controlling currents and the weather

4) the limitations of diving equipment

Undersea vehicles —=—--eaeuux -

1) make direct observations of the ocean floor

2) are too small for a man to fit inside

3) are very slow to respond

4) have the same limitations that divers have
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